Regents Exam Questions A.APR.D.7: Complex Fractions 2
Page 2
www.jmap.org




Name: __________________________________
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Simplify completely: [image: image1.png]
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Express in simplest form: [image: image2.png]IS
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Express in simplest form:  [image: image4.png]1o |y
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Simplify:  [image: image5.png]
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Express in simplest form: [image: image6.png]Tl
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Express in simplest form: [image: image7.png]
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Simplify for all values of a for which the expression is defined: [image: image8.png]
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Express in simplest form:  [image: image9.png]
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Express in simplest form: [image: image13.png]
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Express in simplest terms: [image: image14.png]
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Express in simplest form:  [image: image15.png]P4Taelz
-4
ETE]






14
Express in simplest form:  [image: image16.png]
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Express in simplest form: [image: image17.png]
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